> A
A & 0l & AF 2 E A A
A= SXAL= M ARSI =X
M J|ZMEBE
S MASHSMtE LSS (&)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
sNHL= 1,551,841,959 1,547,423,434 4,418,525
= 1,214,572,653
Xl 12,917,011
J| 62,514,364
< 261,837,931
A2l = X2t 422,306,454 412,335,439 9,971,015
= 296,337,161
Xl 10,602,000
J| 1,675,700
< 113,691,593
IZMEEH 325,092,583 306,860,241 18,232,342
= 289,800,455
J| 1,675,700
= 33,616,428
HASHESAS tH L &S 325,092,583 306,860,241 18,232,342
= 289,800,455
J| 1,675,700
< 33,616,428
IRASHSEH3 XA 192,000 192,372 A 372
307 21201 A 120,000 120,000 0
11T MISAASEX 120,000 120,000 0
OZAZEWI2AXN A 120,000
308 MtXIEHSOIH 72,000 72,372 A372
01 HXNHHNBHELS 72,000 72,372 A372
ZCOIAS2G XA (ML) 18,000
OJ)IZFCWIARI XA (18IHL) 54,000
[ ZMESESHI R (HAH) 273,109,001 253,124,100 19,984,901
= 246,029,000
< 27,080,001
308 XtXIEHH SOl A 273,109,001 253,124,100 19,984,901
= 246,029,000
< 27,080,001
01 AXHHILEES 273,109,001 253,124,100 19,984,901
O3 =MEBES0H(MASOH) 273,109,001
= 246,029,000
= 27,080,001
S ZMEBEHSHIF (LK) (ZNHAEIE) 461,510 590,558 A 129,048
308 AHAIEHHSOIA 461,510 590,558 A 129,048
08 WSII20HetE = 461,510 590,558 A 129,048
O=3200=M4830(Rs30) 461,510
S| =MESEZ 0 X2 (o AHE ) 1,915,011 1,864,603 50,408
= 1,785,000
< 130,011
308 XXM SO0l A 1,915,011 1,864,603 50,408




AR 2X2AHL=2 2M @ Al =X
MY | ZMEPH
S HASHSMSOHUHE (29l 8)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 1,785,000
& 130,011
01 AIKISHEMNEXZ 1,915,011 1,864,603 50,408
O20J=MEZH(HAEHSAH) 1,915,011
= 1,785,000
= 130,011
282X XA 4,300,000 4,300,000 0
= 4,000,000
=} 300,000
308 MXISHMSOIA 4,300,000 4,300,000 0
= 4,000,000
=} 300,000
01 IXHHIMNEEXTZ 4,300,000 4,300,000 0
O23= X XS AE 4,300,000
= 4,000,000
& 300,000
HEAZSOIXA 4,398,275 6,817,400 N2,419,125
2 4,328,000
= 70,275
308 AXIEHSOIA 4,398,275 6,817,400 N2,419,125
= 4,328,000
o= 70,275
01 AIXSHMENMNEX= 4,398,275 6,817,400 N2,419,125
O =80l X 4,398,275
= 4,328,000
= 70,275
S At 22l ALK& 1,379,742 1,335,516 44 226
= 1,061,340
& 318,402
308 XAXIGHHM SO0l & 1,379,742 1,335,516 44,226
2 1,061,340
== 318,402
01 HXHHBIMNEXS 1,379,742 1,335,516 44 226
OIS At 22l AFX & 1,379,742
= 1,061,340
== 318,402
Abddl 22l AF X & 224,250 224,250 0
= 172,500
o= 51,750
308 XX SHHSOIH 224,250 224,250 0
= 172,500
o= 51,750
01 AIXSHMENEXZ 224,250 224,250 0
COAHI 22| AP X & 224,250
= 172,500
& 51,750




A= SXAL= M A= X
Hu: I ZMBEE
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
A2l S X1 I A H| X| 2 4,751,850 5,247,575 AN495,725
= 4,210,500
< 541,350
308 AHAIEHHSOIA 4,751,850 5,247,575 AN495,725
= 4,210,500
< 541,350
01 HIXNHHNBHELS 4,751,850 5,247,575 AN495,725
OdRAI =Xl HH X & 4,751,850
= 4,210,500
< 541,350
SHsXEESSMUIATR 1,320,564 208,560 1,112,004
= 1,170,120
< 150,444
308 XXM SO A 1,320,564 208,560 1,112,004
= 1,170,120
< 150,444
01 AXHHILEES 1,320,564 208,560 1,112,004
ODSHsYEsdSEAMHAXRA 1,320,564
= 1,170,120
< 150,444
ROIt==X MBI AR XA 2,178,410 0 2,178,410
J| 1,675,700
< 502,710
403 A X EHHS =0l A 2,178,410 0 2,178,410
J| 1,675,700
= 502,710
01 X EHHMA=LE L 2,178,410 0 2,178,410
OOt N==2XN M AT XA 2,178,410
J| 1,675,700
< 502,710
NEZZ2 ALY 18,204,711 20,707,485 AN2,502,774
= 17,479,000
< 725,711
308 X EHSOIA 18,204,711 20,707,485 AN2,502,774
= 17,479,000
< 725,711
01 HIXNHHBMNEES 18,204,711 20,707,485 A2,502,774
ORI AY 18,204,711
= 17,479,000
< 725,711
NAXedEH2IE XL 4,004,171 3,687,830 316,341
= 3,548,000
< 456,171
308 XXIEHH SOl A 4,004,171 3,687,830 316,341
= 3,548,000
< 456,171




A= SXAL= M A= X
MY | ZMEPH
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 4,004,171 3,687,830 316,341
OXNSXNEMEH2SH XA 4,004,171
= 3,548,000
< 456,171
THE AL & O AH X2 50t Y 18,000 20,000 A 2,000
307 glz2+ol & 18,000 20,000 A2,000
11T MISRASER 18,000 20,000 A 2,000
OXNEMITHNXEE0E 18,000
Kb Abedl 22l Ak 105,680 141,771 236,091
= 93,640
< 12,040
308 MtXIEHMSOIH 105,680 141,771 236,091
= 93,640
= 12,040
01 HXNHHBHELS 105,680 141,771 A 36,091
CIXHE Atedl 22l 105,680
= 93,640
< 12,040
S|AIBEE(II=E) 1,574,857 2,000,244 N 425,387
= 1,482,724
< 92,133
308 X EHSOIA 1,574,857 2,000,244 N425,387
= 1,482,724
= 92,133
01 HIXNHHNBNEES 1,574,857 2,000,244 N 425,387
gsgilsszd0l=x) 1,574,857
= 1,482,724
< 92,133
S|YIZBSEH(RHa!) 2,473,530 1,676,295 797,235
= 2,028,790
= 444,740
307 21201 A 2,473,530 1,676,295 797,235
= 2,028,790
= 444,740
11T MISAASEEX 2,473,530 1,676,295 797,235
OsIYIBESE (X&) 2,473,530
= 2,028,790
= 444,740
NAXEEHEHSAR =S 59,472 57,792 1,680
307 2201 A 15,120 13,440 1,680
11 ALS S XALEE = 15,120 13,440 1,680
OZATNEHMEHS AR =S 15,120
308 XXM SO A 44,352 44,352 0
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AR 2X2AHL=2 2M @ Al =X
M J|ZMEBE
H2: MASHSAMIELES (2 &HH)
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
01 2L I 9,000 9,000 0
OJ)I=MEBHAL2=X0 Y| 9,000
203 €2 F=&d| 4,300 4,300 0
03 Al ZH =X AR = XH| 4,300 4,300 0
BEESTESETEES 4,300
Z2ATEMHSI XA 496,457 482,500 13,957
= 347,520
= 148,937
307 212t0| & 496,457 482,500 13,957
= 347,520
o= 148,937
11 A EXAIEEX 496,457 482,500 13,957
OZY9NEdeHeY 496,457
= 347,520
= 148,937
LA ELSAIE XA 27,000 30,000 A 3,000
307 2iz2to| & 27,000 30,000 A 3,000
11T AISIEXAIEEX 27,000 30,000 A 3,000
O NESELSIAIE X & 27,000
S|UISESH (XA )AL 2 2| 68,406 66,414 1,992
= 47,884
& 20,522
307 QI2t0| ™ 68,406 66,414 1,992
= 47,884
& 20,522
11 A EXAIEEX 68,406 66,414 1,992
S| UISSEH(IAA)AE 22 2F | 68,406
= 47,884
&< 20,522
HWeosss 494,012 467,876 26,136
= 465,442
= 28,570
308 XX SHHSOIH 494,012 467,876 26,136
= 465,442
o= 28,570
01 AIXSHMEMNEX= 494,012 467,876 26,136
OJWedIssz 494 012
2 465,442
= 28,570
XA 2R NHH AL 22,132,318 24,172,250 N 2,039,932
= 6,536,706
Xl 9,882,000
== 5,713,612
K GASI XA FE 22,132,318 24,172,250 N 2,039,932




A= SXAL= M A= X
M NS A =X ML 3
Sl KIGASISRAY =T (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 6,536,706
Xl 9,882,000
=) 5,713,612
NATEEAS MBI A S XA 9,337,268 10,923,495 A 1,586,227
X 8,395,000
< 942,268
308 XX EHSOIA 9,337,268 10,923,495 A 1,586,227
X 8,395,000
< 942,268
01 HIXNHHNBNEELS 9,337,268 10,923,495 A 1,586,227
OXGASMEIASETAIY (KIS S HI) 9,337,268
Xl 8,395,000
< 942,268
NEASI MBI ANRAE2 Y 260,000 240,000 20,000
Xl 182,000
< 78,000
307 21201 A 260,000 240,000 20,000
Xl 182,000
= 78,000
11T M3 SRASEEX 260,000 240,000 20,000
OXNGAMSMEIAXRHED (ANEZHI) 260,000
X 182,000
< 78,000
A ZPE E 20| ALY 1,430,065 1,664,202 N 234,137
Xl 1,298,000
< 132,065
308 MXIEHSOIH 1,430,065 1,664,202 N 234,137
Xl 1,298,000
< 132,065
01 HXNHHBHELS 1,430,065 1,664,202 AN 234,137
OJANIE S R0IAFS (XIS & 41) 1,430,065
Xl 1,298,000
< 132,065
FHEZAI=XNZSSE2S32GRE 70,000 70,000 0
307 izl & 70,000 70,000 0
10 AL SXAIEEE2EH EX 70,000 70,000 0
OZd=cMs=Nss222ZRE 70,000
AN EXNH2H 23t 50,000 30,000 20,000
201 Let2d] 10,000 10,000 0
03 &Ar2 I 10,000 10,000 0
OAM=EXE2d st 10,000
307 gl2tol & 20,000 0 20,000
11T ALSI S RAIEE = 20,000 0 20,000
OXS A S =8 & XA 0L 20,000




A= SXAL= M A= X
M NS A =X ML 3
Sl XS A ZRAY = CEEEED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 20,000 20,000 0
01 HIXNHHBHNEELES 20,000 20,000 0
OOAS =X QI A gk 2f 5 20,000
MBIEXNANEZEANAE NS 9,000 10,000 A 1,000
307 eIzl & 9,000 10,000 21,000
11T MISXAS EX 9,000 10,000 A 1,000
OMIISXAMEEEANAEHDSE 9,000
AMSISXAESMIANEZ2 LS 72,000 80,000 A 8,000
307 21201 A 72,000 80,000 A8,000
11T MISXASEEX 72,000 80,000 A 8,000
OMBISXAESAIEEZNF 72,000
AT ANA=XNEAS2E XA 170,000 170,000 0
307 21201 A 170,000 170,000 0
03 QIZtHNHE2HHE X 170,000 170,000 0
D32 AMI=2XNEAS2E XA 170,000
A3 S X2 S &AL 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
11T M SRAISE EX 30,000 30,000 0
OAMEI =X 2l g & A 30,000
ZE XD AS = RIALA &3 81,000 90,000 29,000
307 glz2tol & 81,000 90,000 A 9,000
11T MISRASEX 81,000 90,000 A9,000
O3S XS A2 S X AA Z 3] 27,000
OZF=2XNAAMA2XNAESLNSE 54,000
MI=XNEELEHZ S 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
11T M ZXAISE EX 150,000 150,000 0
OMEIESXE2EHdH2E 150,000
ZHEZASSEANAEAHEZE 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
11T MISXASER 50,000 50,000 0
O3S AMASEXNIWUEH2SE 50,000
E20SMSXR 31,500 35,000 A 3,500
307 21201 A 4,500 5,000 A 500
11T M3 SXASEEX 4,500 5,000 A 500
ODZE202SAE=2S 4,500
308 AHAIEHSOIA 27,000 30,000 A 3,000




M ox
40 5 4

23at

D EXAE= M AEI =S X
S A AME S ITAE A
D AG AR SR AL =&

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 27,000 30,000 A 3,000
OZ20=SAMEXE 27,000
HAZSHMAANENSUS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
O3 =2ZAUQLALHSHE 10,000
ArS| S X 2t F At XHAIOI L 13,500 15,000 A 1,500
307 21201 A 13,500 15,000 A 1,500
11T MISXASEEX 13,500 15,000 A 1,500
LAl = X 2 S AFXEAID] L 13,500
M SXAELAXNHE S 226,310 222,026 4,284
301 gtEd= 226,310 222,026 4,284
01 MI2ZE 6= 226,310 222,026 4,284
OMBISXANELALTRZAE 226,310
FAUQAANE L AR AZ XS 19,500 20,846 N1,346
308 XX EHSOIA 19,500 20,846 N1,346
01 IXNSHHBNEES 19,500 20,846 N 1,346
OFNMNQEANEL AT AZS XA 19,500
ASISTIAE S A= 124,848 123,648 1,200
308 XtXIEHH SOl A 124,848 123,648 1,200
01 AXHHILEES 124,848 123,648 1,200
OA=SXAIESA NS 124,848
ALSI S X2t S 3HAHY 76,800 86,400 A 9,600
308 MtXIEHMSOIH 76,800 86,400 A 9,600
01 HXNHHNBHELS 76,800 86,400 A 9,600
OARI =X 2 E5HALS 76,800
FUQAANERS 7,362,467 7,520,864 A 158,397
= 6,523,706
= 838,761
308 X EHSOIA 7,362,467 7,520,864 A 158,397
= 6,523,706
< 838,761
01 HXNHHNBNEES 7,362,467 7,520,864 A 158,397
OBAUQAANLE2I 7,362,467
= 6,523,706
< 838,761
ROIt==2XNE8ESAEH2IE 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISRASEX 10,000 10,000 0




2 =2xA22 = A
X

M NSAS =X MBI A2 3
? ASA SR AG =E

PAKCTES PAN;

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Oobt=olssi22d 10,000
JEHENHRI(EH) 2,219,000 1,980,000 239,000
306 =2 2,219,000 1,980,000 239,000
01 &3 2,219,000 1,980,000 239,000
OS2 Y| 1,519,000
=T E AL S I 700,000
Z2=EsN=S0) 829 12,000 8,000 4,000
201 ¢er24] 12,000 8,000 4,000
01 At 22l 8,400 8,000 400
Ogxt= 8,400
OZ=2=2XNS0)I=sEXHSEX 8,400
02 =224l 3,600 0 3,600
PN I=Fal=gsl 3,600
Od=s=sXs0lIsenzsr Al 3,600
ASI S A AN A 15,000 15,000 0
308 MtXIEHSOIH 15,000 15,000 0
01 X HHILEXS 15,000 15,000 0
OAMSI SR LSS S HAXA 15,000
M EXNFURESSRIAAY 2,000 2,000 0
303 L& 3 2,000 2,000 0
01 243 2,000 2,000 0
OMISXNFURSSREAY 2,000
HELHZ2 02 L3RI 27,000 30,000 A 3,000
307 glz2tol & 27,000 30,000 A 3,000
11T MISXAS EX 27,000 30,000 A 3,000
D=L E0l2-83 K& 27,000
NSEASIMEIAERAIE 2 10,000 10,000 0
Xl 7,000
< 3,000
201 Let2d] 10,000 10,000 0
Xl 7,000
< 3,000
01 At 22l 10,000 10,000 0
Opt=2H] 10,000
OXNYGMIMEIAETRAMLHETRAS(XNES
Hl) 10,000
Xl 7,000
< 3,000
NGAEHEANS S XA 92,000 97,000 A5,000
308 A EHHSOIA 92,000 97,000 A5,000




M ox
40 5 4

D EXAE= M AEI =S X
¢ KIS ALE = X A

ES
D AG AR SR AL =&

- _ _ RE]
AT SA B O (3H) - MEAY - BES %Eﬁ HR=2
01 AIKSHMEAMNEX= 92,000 97,000 A5,000
OXNEA EHEIMSE X E 92,000
KNAANSIEBEEHEEOAMAN AN XK 23,000 25,000 A 2,000
= 13,000
& 10,000
308 XNXISHH SO0l & 23,000 25,000 A 2,000
2 13,000
& 10,000
01 IXHHIMNEXZ 23,000 25,000 A 2,000
OXGANSEHEAMANEUS XS 23,000
=2 13,000
& 10,000
A3 2 XAl & LA XA 12,060 12,862 A 802
308 MXISHMSOIA 12,060 12,862 A 802
01 AIXSHMENMNEXZ 12,060 12,862 A 802
OAISI S X AIE A XA 2 H & H| 6,030
OAISIE XAl E A AXEAH| 6,030
K GALS E XA =& 76,500 75,663 837
201 Ler2 | 25,600 14,850 10,750
01 AR 22/t 25,600 14,850 10,750
=] 8,850
OXIGAIS =TI AIR T U bt 2 | 8,850
Oosgx¢ 16,750
OXNYGA XN AR =LY 6,000
OAMIEXNANEEHIIASJ LS LAY 5,950
OXNAANIEXNANEAMNARA LS L Y| 4,800
202 04| 18,000 20,000 A 2,000
01 2L I 18,000 20,000 A 2,000
OXNEAIS EXER2FE 0 18,000
203 €2 F=&d| 12,900 12,900 0
03 Al ZH =X 2= XH| 12,900 12,900 0
OXNSAMNII=EXNEHASSEEFA 12,900
207 SO0 £ 20,000 20,000 0
01 4| 20,000 20,000 0
OXNGASBEHAXTE A E =8 20,000
A2 AAE A SY 40,000 50,000 A 10,000
306 52 40,000 50,000 A 10,000
0132 40,000 50,000 A 10,000
OZF=HEINAIAE 2 2Y 40,000
X GASHEI AL R A 19,500 19,500 0
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01 AIXSHMEMNEX= 81,000 70,260 10,740
OSHEBSHFYEAMY 81,000
QUALESAISE XS ALY 170,000 170,000 0
307 gizto| A 170,000 170,000 0




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
11T M SRASE EX 170,000 170,000 0
ORQYAESASEXRAAY 170,000
ZAAIEEX 6,501,500 6,746,000 A 244,500
= 5,354,000
= 1,147,500
ZAAIE E XA 6,501,500 6,746,000 A 244,500
= 5,354,000
=) 1,147,500
403 MtXISHHE X201 & 6,501,500 6,746,000 A 244,500
= 5,354,000
=) 1,147,500
01 AXISHHA=2E = 6,501,500 6,746,000 A 244,500
OOEAAIE & XA 6,501,500
= 5,354,000
< 1,147,500
CAE=ENEN 45,480,804 47,211,538 A 1,730,734
= 9,998,706
J| 1,500,000
< 33,982,098
COHINE2ILRA 10, 144,986 12,715,049 A 2,570,063
= 3,894,503
< 6,250,483
Lo NAREH 99,900 99,000 900
308 XXIEHH SOl A 99,900 99,000 900
01 AXHHILEES 99,900 99,000 900
OLowazd 99,900
RS N 2,299,834 2,266,791 33,043
307 21201 A 45,000 50,000 A5,000
11 ALS S RAEE = 45,000 50,000 A5,000
OH=E2Z2FMULASEZIZIHR2S 45,000
308 XX EHH SOl 2,254,834 2,216,791 38,043
01 IXNHHBNEES 2,254,834 2,216,791 38,043
OzZ2gsgeat 1,253,670
D322 XE 959, 164
OZ2d 43t 42,000
LRSS 127,100 128,500 A 1,400
307 glz2+ol & 50,000 55,000 25,000
11T MISXASER 50,000 55,000 A5,000
[JYOYO= s Al oK = 50,000
308 MXIEHSOIH 77,100 73,500 3,600
01 AXHHILEXS 77,100 73,500 3,600




A YEEE: SN =KD
HH: COALENEX
©9l: ZOOIA LAY S (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
avovosdos+=2dg 35,700
OyovoSg & 4dstkd 41,400
FZ2ESEI ILHLH X2 5,570,891 7,585,388 A2,014,497
= 2,932,048
< 2,638,843
308 MtXIEHSOIH 5,570,891 7,585,388 A2,014,497
= 2,932,048
< 2,638,843
01 HXNHHBHELS 5,570,891 7,585,388 A2,014,497
O3 sEIIHLH X 5,570,891
= 2,932,048
=) 2,638,843
I2ELRHIXE 1,196,785 1,628,916 AN 432,131
= 629,887
< 566,898
308 XX EHSOIA 1,196,785 1,628,916 AN 432,131
= 629,887
< 566,898
01 IXNHHBNEES 1,196,785 1,628,916 A 432,131
OZ2g 234X 1,196,785
= 629,887
< 566,898
2 GHLHIXE 373,548 505,694 A 132,146
= 196,604
< 176,944
308 XX EHH SOl A 373,548 505,694 A 132,146
= 196,604
< 176,944
01 AXHHILEES 373,548 505,694 A 132,146
O3GHLHIX2 373,548
= 196,604
= 176,944
Z2YZINJALEHZIE 271,928 295,760 A 23,832
= 135,964
< 135,964
307 gl & 271,928 295,760 A 23,832
= 135,964
< 135,964
10 AL SXAIEEE2EH EX 271,928 295,760 N 23,832
OZ2EZAXNJALUE2EH X 271,928
= 135,964
< 135,964
HEZZ2LELIIESNA 200,000 200,000 0
308 XXM SO0 A 200,000 200,000 0
01 IXNSHHBNEES 200,000 200,000 0




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ODH=sI3L24s=25E 200,000
Lo =EXA2IXNR 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
11T MISRASER 5,000 5,000 0
O =X2SALLS 5,000
LASXANESES 6,610,402 4,889,566 1,720,836
= 1,744,451
J| 1,500,000
< 3,365,951
F2YISELAY 1,621,500 994,000 627,500
403 XIS E X201 & 1,621,500 994,000 627,500
01 AXSHMA2E = 1,621,500 994,000 627,500
OJZZ2YMHE At 1,420,500
O3 =g otd 2e|CCTVA X 201,000
LO=ERAEIISsELAY 3,488,902 3,125,566 363,336
2 1,744,451
=) 1,744,451
403 MtXISHHE A0l & 3,488,902 3,125,566 363,336
2 1,744,451
=) 1,744,451
01 AXISHHA=2E = 3,488,902 3,125,566 363,336
O =XNAIE)IsEZAY 3,488,902
=2 1,744,451
< 1,744,451
Lo=sRalIsELdAd 1,500,000 500,000 1,000,000
J| 1,500,000
403 A X EHHS =0l A 1,500,000 500,000 1,000,000
J| 1,500,000
01 X SHHX2E= 1,500,000 500,000 1,000,000
OLesEX2I)sEZAE 1,500,000
J| 1,500,000
LO=ETANE2Y 28,725,416 29,606,923 A 881,507
= 4,359,752
< 24,365,664
LASTNANLE2E XS 23,484,430 23,289,510 194,920
307 gl2tol & 41,000 43,000 A 2,000
11 ALS S RAEE = 41,000 43,000 A 2,000
OLsTNAERANME AB BB S NS 23,000
OLdsNANEL2ESE2dHNE 18,000
308 XtXI &t H S0 & 23,443,430 23,246,510 196,920
01 X HHILEXS 23,443,430 23,246,510 196,920
DM 2ALAEXNANESERSNA 12,480




-

—

r
1of
o)
H

= A

i
70
i)
=
b
i
<

=) B0
KIo 0
R
W=
WK
<
ol 3l
HH

&l OF
%0 OJ

<

n0

Kio

Hl w

A1,021,871
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A 1,500

A 1,500

N 28,200

N 28,200

N 28,200

A 10,000

A 10,000

210,000
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9,800
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4,300
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4,121,752

i

H

529,940
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== A
N & o & AF & H Al A
A YEEE: SN B D
Hy: H=XEA
CHel: HOHQI MEOtE X & (&)
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
ZOH QI = X 0t 175,544,249 174,191,210 1,353,039
= 133,300,264
J| 5,000,000
< 37,243,985
ZOHA=SXESH 175,455,009 174,102,810 1,352,199
= 133,300,264
J| 5,000,000
< 37,154,745
ZOH QI M 2O H K| & 92,980,984 91,788,433 1,192,551
= 82,062,820
< 10,918,164
ZOHAUAS KA 47,221,034 45,436,611 1,784,423
= 42,817,000
< 4,404,034
308 XtXIEHH SOl A 47,221,034 45,436,611 1,784,423
= 42,817,000
< 4,404,034
01 X HHILEES 47,221,034 45,436,611 1,784,423
OXMHAASKIR 47,221,034
= 42,817,000
= 4,404,034
TG RNAINI=x) 6,347,134 6,133,848 213,286
= 5,624,043
< 723,091
308 A EHHSOIA 6,347,134 6,133,848 213,286
= 5,624,043
< 723,091
01 AXNSGHBLAEES 6,347,134 6,133,848 213,286
Oz X& (=) 6,347,134
= 5,624,043
< 723,091
=R 2 (XHA) 4,653,477 4,722,265 68,788
= 4,123,334
< 530,143
308 XX S A S0 & 4,653,477 4,722,265 168,788
= 4,123,334
< 530,143
01 IXNHHBANEES 4,653,477 4,722,265 68,788
O X2 (a=1) 4,653,477
= 4,123,334
< 530,143
Zojerel 24 K& 1,668,400 1,935,000 A 266,600
= 1,552,000
< 116,400
308 XX EHHSOIA 1,668,400 1,935,000 A 266,600
= 1,552,000




A= SXAL= M ZOHASX
HE: ZO=XEH
CHol: FOJQI M E OHE K| CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 116,400
01 IXNHHBNEES 1,668,400 1,935,000 A 266,600
J&ofelel 2l X & 1,668,400
= 1,552,000
< 116,400
FOHAESEI 2R A 81,400 86,000 A 4,600
= 75,721
= 5,679
308 XX EHHSOIA 81,400 86,000 A 4,600
= 75,721
< 5,679
01 X HHILEXS 81,400 86,000 A 4,600
OFMHAEXI XA 81,400
= 75,721
< 5,679
FUSSHMNE2E 48,100 62,452 A 14,352
= 37,000
< 11,100
308 AHXIEHHSOIA 48,100 62,452 A 14,352
= 37,000
< 11,100
01 HIXNHHNBMNELS 48,100 62,452 A 14,352
OZSsSEMNE2SE 48,100
= 37,000
< 11,100
O AHAEYA0E2 X 84,049 84,049 0
2 74,474
< 9,575
308 XXM SOl A 84,049 84,049 0
2 74,474
< 9,575
01 AXHHILEES 84,049 84,049 0
OO AHAELA00EESXE 84,049
2 74,474
< 9,575
O ESXNIASHXA 25,655,744 25,834,433 A 178,689
= 22,732,938
< 2,922,806
308 MtXIEHMSOIH 25,655,744 25,834,433 A 178,689
= 22,732,938
< 2,922,806
01 HXNHHBHELS 25,655,744 25,834,433 A 178,689
OsXd30(H2H) 25,655,744
= 22,732,938
< 2,922,806




AR =xA2R SN FHSTD
Hy: H=XEA
el mOjOIMEBOIE R CER-ED
= - — L=
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2

22X 32N 47,037 59,624 A 12,587
= 41,678
< 5,359

308 XXX S0 A 47,037 59,624 A 12,587
= 41,678
< 5,359

01 AXSHBLEELS 47,037 59,624 A 12,587
OZSHMNAESEXINAMZ(BIRH) 47,037
= 41,678
= 5,359

ZHOHQI= K| 2 X2l At e 2,494,346 2,367,924 126,422
= 1,918,728
< 575,618

308 XX SIS0 & 2,494,346 2,367,924 126,422
= 1,918,728
< 575,618

01 IXNHHBANEES 2,494,346 2,367,924 126,422
O ZHOH Q1= X 2 X2l AFS 0 494,346
= 1,918,728
< 575,618

ZOH QI BHE & X2l AL S 2,734,402 3,969, 165 A 1,234,763
= 2,103,386
< 631,016

308 XX EHH SOl A 2,734,402 3,969, 165 A 1,234,763
= 2,103,386
= 631,016

01 HXNHHNBHEELS 2,734,402 3,969, 165 AN 1,234,763
O Lt dXtel X3 AS 2,734,402
= 2,103,386
< 631,016

ZORQI B E U X2l AR (AIEH) 649,231 0 649,231
2 499,408
< 149,823

308 XXM S0 A 649,231 0 649,231
= 499,408
< 149,823

01 AXSGHBLAEES 649,231 0 649,231
COIEoHeldBrE A Xtel At (Al2EA) 649,231
= 499,408
< 149,823

Al 2L ZHOH QI HOFAFTIHA AHS 431,774 418,491 13,283
= 401,650
< 30,124

308 XXIEHH SOl A 431,774 418,491 13,283
= 401,650
< 30,124




AR =xA2R SN FHOI=XD
M ZOjQ=NEN
el mOjOIMEBOIE R CER-ED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
01 AIKSHMEAMNEX= 431,774 418,491 13,283
[TAIZFEOH QI OO AFIIFA AFE 431,774
= 401,650
o= 30,124
EXSNHAEHHQI2HESHH X & 41,000 41,000 0
308 XNXISHH SO0l & 41,000 41,000 0
01 HXHHIMNEXS 41,000 41,000 0
OE+st MASECI2FESHHI X & 41,000
Aol sdsEocYg 13,458 12,060 1,398
101 e1214| 13,458 12,060 1,398
04 J|12tHIZ22NEES 13,458 12,060 1,398
O DEEEHS S0 ELZ 2|
51,7602 18 260! 13,458
O ESSENA(KAM) 730,500 220,000 510,500
308 MXISHMSOIA 730,500 220,000 510,500
01 IXHHIMNEXZ 720,000 210,000 510,000
&M ES=sEXZAMHHAXNR 720,000
10 2| 2 SHCHSHE A A A 10,500 10,000 500
JEMWOESSEXIANHAXNIRE =TS 10,500
UGG RLUESAIE R R ALY 79,898 75,335 4,563
= 61,460
& 18,438
308 XAHXIGH SO0l & 79,898 75,335 4,563
= 61,460
& 18,438
01 IXHHIMNEXS 79,898 75,335 4,563
YUY HHALAEBSAIEZL X Al 79,898
= 61,460
= 18,438
Ol = XI Xl & &Y 11,111,589 9,980,477 1,131,112
= 5,440,216
o=} 5,671,373
O MAIZEHOHAIE 2 161,470 158,500 2,970
= 64,588
= 96,882
307 QI2t0| & 161,470 158,500 2,970
= 64,588
= 96,882
10 A SXNANEEHESIHEX 161,470 158,500 2,970
O MMEBETHIHAIESYE 161,470
= 64,588
& 96,882




M ox
40 5 4

CeEfHA= S EOHQ

o -

L H=NEA
IS P

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
HAEEMM WE XX (XA 45,000 50,000 A5,000
= 31,500
& 13,500
307 2Iz2t0| A 45,000 50,000 A5,000
= 31,500
= 13,500
11 A EXAIEEX 45,000 50,000 A5,000
OSEEMA DS AAS 45,000
= 31,500
=} 13,500
A WEXR(XH) 57,868 39,500 18,368
= 51,275
& 6,593
308 XNXIGHSO0l& 57,868 39,500 18,368
= 51,275
& 6,593
01 HXHHBIMNEXS 57,868 39,500 18,368
O EOMHOIAIS &2 &0 X & 57,868
= 51,275
o= 6,593
HAEAEMOIESMHI XA 83,740 75,050 8,690
= 74,200
=} 9,540
308 AMXISHMSOIA 83,740 75,050 8,690
= 74,200
= 9,540
01 AIXSHMENEXZ 83,740 75,050 8,690
OAMEEMSAMHI S A 83,740
= 74,200
& 9,540
ESHHANY S (LSS 165,300 165,300 0
= 114,000
o=t 51,300
308 XHXIEH SOl A 165,300 165,300 0
= 114,000
& 51,300
01 AIXSHHENMNEX= 165,300 165,300 0
OSSO NEME(IL)2EXH 165,300
= 114,000
& 51,300
NEBHWOIXNRFAEH=H 328,000 226,000 102,000
308 XAHXIGHH SO0l & 328,000 226,000 102,000
01 RXEBHMBARES 328,000 226,000 102,000
OXNEHOHAXRAEHSA 328,000




A= SXAL= M ZOHASX
Hy: H=XEA
Sel: ZOH =KX 2=t (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ZOHMEXNALMEHZIE 59,000 31,000 28,000
308 AHAIEHHSOIA 59,000 31,000 28,000
01 HXNHHBHELS 59,000 31,000 28,000
OXMHMEXRMMHS S 59,000
ZOHI=SRIX 2 A 1,222,400 1,108,780 113,620
308 XX EHH SOl 1,222,400 1,108,780 113,620
01 HIXNHHNBNEES 1,222,400 1,108,780 113,620
O=s0l HEZ 22 ALY 9,000
OXMHL=2XNEZLMDNA 20,000
OANZDSMINSASHEH2SE 440,000
OnsSHMHAEESAS 25,000
OAMZXMEHAAE TSN BLUE2SE 230,000
OANZHZOHAMEXNJMMHS S 94,400
CJEONCI DS At 2 el AL 122,500
OANZEHAEESGRNALMH2Y 100,000
ORIEH S22 66,000
ONZEHEHEHAA AL AOISKNAME2E
A& 52,500
OAMZUMEHA WA A2 63,000
ZOHQI M AS EHOH Al & I & 180,000 180,000 0
307 21201 A 180,000 180,000 0
10 ALSISXAIEEE2GHEX 180,000 180,000 0
LEONQI A SEOHAIE X & 80,000
OO MMBSEHIALSXNA(ZE) 100,000
TOHOIB O A S ZF K & 820,200 717,350 102,850
307 glz2tol & 300,000 237,150 62,850
11T M SXAS EX 300,000 237,150 62,850
OFMHAEJALSIHZ2SH 100,000
OSSN MEHQAEAAILHMEHZ2E 200,000
308 XX EHSOIA 520,200 480,200 40,000
01 HIXNHHNBMNEES 520,200 480,200 40,000
OAMZXMEHABJAILEHZ S 520,200
ZOHQITH &AL RI & 1,398,916 1,308,481 90,435
307 glz2+ol & 145,000 0 145,000
11T MIEXASEX 145,000 0 145,000
O=ZetsNadge2d 145,000
308 MtXIEHSOIH 1,253,916 1,308,481 A 54,565
01 X HHILEES 1,253,916 1,308,481 A 54,565
OAM2EesrsddE 29 56,616
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403 XX SHHS K20 & 1,000,000 4,000,000 A 3,000,000
J| 1,000,000

01 XIS A2E X 1,000,000 4,000,000 A 3,000,000
OAFHAIHOHOISE g2 A 1,000,000
J| 1,000,000

IR ATEANLESH 2,134,632 2,011,408 123,224

307 giztol A 40,000 30,000 10,000

11T AISIEXAIEEX 40,000 30,000 10,000
OXANENEB A=A 40,000

308 AMXISHMSOIA 2,094,632 1,981,408 113,224

01 AIXSHMENEXZ 2,094,632 1,981,408 113,224
O AMNATHE A B 2H 2,094,632

ZOHRIHF=AIE XA 1,466,421 1,469,900 N3,479

201 gBt24y| 38,000 72,870 N 34,870

01 AP 22| H| 38,000 72,870 N 34,870
Oeds¢ 38,000
OXHMA=SXAIEZAIR 38,000

307 212t0| & 18,000 20,000 A 2,000

11 A EXAIEEX 18,000 20,000 A 2,000
OO HF=AIE QA X Z 0| 18,000

308 XHXIEHSOIA 1,410,421 1,377,030 33,391

01 AIKSHHEMNEXZ 1,410,421 1,377,030 33,391
XA HIHFAIESH 585,322
O Z2SMEINE2A 152,549
JEOOIMEAEHE AKX 90,280
O MEAIEE AT SHEHRNZ XA 30,000
XM HFAIES2H (AHA) 541,770
O HFAIE0SNHAANR 10,500

OIS X AIESALAE 840,480 767,232 73,248

308 XX SHHSOIA 840,480 767,232 73,248

01 IXHHIMNEEXTZ 840,480 767,232 73,248
OO 22X AIEESAIASTE 840,480

HOHRIHFAE ) sEZY 2,123,418 1,714,052 409, 366
= 1,633,398
& 490,020

403 XX SHHS K20 & 2,123,418 1,714,052 409, 366
= 1,633,398
= 490,020

01 IS A=2E X 2,123,418 1,714,052 409,366
O HFAIE ) SEY 2,123,418
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01 = LH 4 Hi 30,000 30,000 0
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01 At 22l 46,000 46,000 0
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S 338,283
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- _ — d =
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202 044l 16,100 12,000 4,100
01 = LH 4 1l 16,100 12,000 4,100
JZggaelAmgdgd =80l 11,400
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Ceist XA S 2D S0l 2,300
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01 =8l 15,000 15,000 0
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307 glz2+ol & 236,362 107,060 129,302
J| 118,181
< 118,181
01 22724l 236,362 107,060 129,302
ooz g el &=l 236,362
J| 118,181
< 118,181
o= 8ol Are (KI&) 55,084 50,534 4,550
J| 42,372
< 12,712
308 XtXIEHHSOIA 55,084 50,534 4,550
J| 42,372
< 12,712
01 AXHHILEES 55,084 50,534 4,550
CT0ll Ol =& EFAI2F 2 & I 35,135
J| 27,027
< 8,108
OdiZSE2 AL SR 19,949
J| 15,345
< 4,604
Ol Ol =0l & 2t 2l At 132,500 122,500 10,000
307 21201 A 125,000 115,000 10,000
05 QIZt2IE =3 125,000 115,000 10,000




Fal;

AR =xA2R = 23
M BHALZAMATRS
S oG2S (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
ooz gxgEg=d 90,000
OoolIZdZE2 NS A 35,000
308 AHAIEHHSOIA 7,500 7,500 0
01 HXNHHNBHEELS 7,500 7,500 0
golorzogzg2el X 7,500
BAHLZHAR ALY (HY) 1,440 0 1,440
J| 720
< 720
202 O4dl 1,440 0 1,440
J| 720
< 720
01 = LH o4 4l 1,440 0 1,440
CZeoist T A X0 1,440
| 720
< 720
BHLAZHZAIAMNG (XR) 1,427,665 747,514 680, 151
J| 1,191,637
< 236,028
308 XX EHH SOl A 1,427,665 746,074 681,591
J| 1,191,637
< 236,028
01 X HHILEES 1,427,665 746,074 681,591
OgaAszsze] 687,523
J| 583,594
= 103,929
mEEE TR LR 740,142
J| 608,043
< 132,099
oI Z ST KR 231,000 264,000 A 33,000
J| 231,000
308 XXM SOIA 231,000 264,000 A 33,000
J| 231,000
01 IXNHHBNEES 231,000 264,000 233,000
Oozol2tzsait2el X 231,000
J| 231,000
Za 2| ALY 95,000 95,000 0
307 21201 A 35,000 35,000 0
02 It S AIHE L 35,000 35,000 0
OZsiate| At 35,000
308 AXIEH SOl A 60,000 60,000 0
01 HIXNHHBNEES 60,000 60,000 0
O=stMBHS NGRS AAY 60,000
StAAIE 2 X & 1,722,701 1,742,752 220,051




Fal;

Az =xAAR = Az
HE: BMALBRAMAN TS
Helr M L2 AY (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 1,205,915
< 516,786
308 XX EHHSOIA 1,722,701 1,742,752 A 20,051
= 1,205,915
< 516,786
01 HIXNHHBNEES 1,722,701 1,742,752 A 20,051
Ostdl A L2E X & 1,722,701
= 1,205,915
< 516,786
SHEIHO| Y2 FEH2H LT OLEhdl ol 24 A H| X & 600,306 581,842 18,464
= 300,153
< 300,153
308 XtXIEHH SOl A 600,306 581,842 18,464
= 300,153
< 300,153
01 X HHILEES 600,306 581,842 18,464
Oetd2to| 2 FH2 A X & 570,964
= 285,482
< 285,482
CITH OBl Q1 A8 A I XI & 29,342
= 14,671
< 14,671
Sl ST 22l AL (RHE) 113,000 79,240 33,760
= 56,500
< 56,500
403 MtXISHHE X201 E 113,000 79,240 33,760
= 56,500
< 56,500
01 X SHHA2E = 113,000 79,240 33,760
et 2t0| L2 =T | s2 2 113,000
= 56,500
= 56,500
Stulg 2 e| X &AM 467,878 482,821 A 14,943
307 21201 A 432,800 467,800 /35,000
02 QItFAAHE X 100,000 100,000 0
[Jstdl o1 X & At 100,000
05 B2t E = 332,800 367,800 A 35,000
OetdldE el At 332,800
308 XtXIEHHSOIA 15,078 15,021 57
01 X HHILEES 15,078 15,021 57
Ot M A DS AR =& 13,440
OStdlMEA LA T AL AR H LS A Y| 1,638
403 MtXISHHE X201 H 20,000 0 20,000
01 AXISHH A2 = 20,000 0 20,000




AR =xA2R SN A
M BHALZAMATRS
S oG2S (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OStdMEAE)|IsE2Z 20,000
St OITI| o At 24 11| off Kt 24 & X| & 1,350,000 1,337,400 12,600
= 1,350,000
308 XXM SO A 1,350,000 1,337,400 12,600
= 1,350,000
01 XML EES 1,350,000 1,337,400 12,600
)8l QI Ti| o At 24 Tif of At 24 & X & 1,350,000
= 1,350,000
ZelXNgZ2 g8 YA 8,000 7,000 1,000
= 4,000
= 4,000
307 21201 A 8,000 7,000 1,000
= 4,000
= 4,000
01 =L =4l 8,000 7,000 1,000
OAceZEHEYAX = I 8,000
=2 4,000
< 4,000
ZEYEAESINUE(AY) 3,437 3,492 AB5
= 3,437
201 ¢4l 3,437 3,492 AB5
= 3,437
01 At 22l 3,437 3,492 A 55
ORI = 3,437
OHZEE2HU=E 3,437
= 3,437
ZEHAM IR (XA) 85,925 87,300 A1,375
= 85,925
308 A EHHSOIA 85,925 87,300 A1,375
= 85,925
01 HXNHHNBHELS 85,925 87,300 A 1,375
OZEHEEZHUE 85,925
= 85,925
ZHEESASITALALY 7,412 7,680 A 268
= 7,412
201 L4l 7,412 2,980 4,432
= 7,412
01 At 2t 2l 7,412 2,980 4,432
O =l 7,412
OLZESAS ML= 7,412
= 7,412
MEBZFEAI 2 HESEd 11,000 11,000 0
J| 5,500




A2 =SRAL= SH BAT MY
B BAALMATS
S oG2S (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 5,500
201 L4 11,000 11,000 0
J| 5,500
< 5,500
01 At 2t 2l 11,000 11,000 0
Oger==&H| 11,000
Ot sdZERINI eI SES +=2H| 11,000
J| 5,500
< 5,500
dMEsZggUIAXNzEaeESH 80,000 96,000 A 16,000
J| 80,000
308 AHXIEHHSOIA 80,000 96,000 A 16,000
J| 80,000
01 HIXNHHNBHNEELS 80,000 96,000 A 16,000
ONESLEEURINZEMNEER X 80,000
J| 80,000
FUggIEdAM2IIA (YY) 10,000 10,000 0
= 5,000
< 5,000
201 L2l 10,000 10,000 0
= 5,000
= 5,000
01 At 22l 10,000 10,000 0
pt==Hl 10,000
OFUIYEELANEES 10,000
= 5,000
< 5,000
FZRUAHT 2 LA (XEH) 22,542 14,742 7,800
= 17,340
= 5,202
308 XX EHH SOl 22,542 14,742 7,800
= 17,340
< 5,202
01 HIXNHHNBMNEES 22,542 14,742 7,800
FRIFEESTANAZINZXH 22,542
= 17,340
= 5,202
REILS A S0l 2t 17,160 22,880 A5,720
J| 13,200
< 3,960
308 XXIEHH SOl A 17,160 22,880 A5,720
J| 13,200
< 3,960
01 XML EES 17,160 22,880 A5,720
OXRZEIJDNLSAISH S 2l AL 17,160




Fal;

a=: 51X = £ AZ
M BHALZAMATRS
SRl U YBRIAY EERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
Il 13,200
< 3,960
= ZEE S A A 21,966,490 19,521,063 2,445,427
| 16,897,300
< 5,069,190
308 XXM S0 A 21,966,490 19,521,063 2,445,427
| 16,897,300
< 5,069,190
01 AXNSHBLAEES 21,966,490 19,521,063 2,445,427
CBE 2t =401 2 S 0l & 53,300
p] 41,000
< 12,300
OoeolugEsx 16,764,150
| 12,895,500
< 3,868,650
ORougEsXA 5,149,040
| 3,960,800
< 1,188,240
HYEESSEUH2Y 298,700 288,626 10,074
| 298,700
308 XXM S0l A 298,700 288,626 10,074
| 298,700
01 IXNHHBENEES 298,700 288,626 10,074
OogEESsSSHEH=2E 298,700
J| 298,700
MEBHAOSZAMHAHRG XA 24,000 0 24,000
| 12,000
= 12,000
308 XXl EHH SOl A 24,000 0 24,000
| 12,000
< 12,000
01 X HHBLEES 24,000 0 24,000
OMSHAOISZAIMA 2SI 24,000
| 12,000
= 12,000
HEAASANIHE 2L XA 2,800 4,300 A 1,500
| 2,800
201 Yet2 | 2,800 4,300 A1,500
J| 2,800
01 At 2t 2l 2,800 4,300 A 1,500
Oget=2tl 2,800
OCdE=HAWE ==l 2,800
| 2,800
MEHAESHSRADSYLE N 27,950 24,000 3,950
J| 21,500
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A=
HE: BMALBRAMAN TS
ool ASBIAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 730,319 743,331 A 13,012
J| 561,784
< 168,535
01 HIXNHHBHNEELES 730,319 743,331 A 13,012
OX S ALS A2 T A 730,319
J| 561,784
< 168,535
K AS A2 AALS 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
05 RIZt2IE = 15,000 15,000 0
OZYd=S=XNFA AL ZAISHE L2 15,000
Iotg el (HY) 102,180 107,500 A5,320
J| 40,872
= 61,308
307 21201 A 102,180 107,500 A5,320
J| 40,872
< 61,308
02 It S AHE L 102,180 107,500 25,320
OX X2 102,180
J| 40,872
< 61,308
ot (X&) 1,245,880 1,110,123 135,757
Jl| 958,369
= 287,511
308 X EHSOIA 1,245,880 1,110,123 135,757
J| 958,369
< 287,511
01 HXNHHNBNEES 1,245,880 1,110,123 135,757
Oogad 1,245,880
J| 958,369
< 287,511
2 8 XX &AL 1,785,862 1,664,886 120,976
J| 1,373,740
< 412,122
308 XXM SO A 1,785,862 1,664,886 120,976
J| 1,373,740
< 412,122
01 X HHILEES 1,785,862 1,664,886 120,976
et itel =2 A& 1,645,800
J| 1,266,000
< 379,800
OO & Xt2el 140,062
J| 107,740
< 32,322
A2l ALY 45,000 51,000 26,000




A=
HE: BMALBRAMAN TS
S9l: AYSTAY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 45,000 51,000 A 6,000
01 HIXNHHBHNEELES 45,000 51,000 A 6,000
OgA22el Aty 45,000
A S HI X ALY 1,684,865 1,838,688 A 153,823
J| 1,296,050
< 388,815
308 XXM SOIA 1,684,865 1,838,688 A 153,823
J| 1,296,050
< 388,815
01 AXHHBISEES 1,684,865 1,838,688 A 153,823
O3 AHE SR S XI& 1,684,865
J| 1,296,050
< 388,815
Mgz Eg2elAE(EHE) 73,750 100,000 226,250
J| 36,875
= 36,875
307 21201 A 73,750 100,000 226,250
J| 36,875
= 36,875
02 It S AHE L 73,750 100,000 A 26,250
DAy E2aTSU L2 A 73,750
J| 36,875
< 36,875
ArlEoEE e 2elAS (XH) 1,350,535 1,332,913 17,622
Jl| 1,047,527
= 303,008
308 XX EHSOIA 1,350,535 1,332,913 17,622
9] 1,047,527
< 303,008
01 HIXNHHNBNEELS 1,350,535 1,332,913 17,622
OnggggEssa2dcdAY 1,313,035
J| 1,010,027
< 303,008
OS2 ZALIAM2IHL =S 37,500
J| 37,500
G ESH A 30,000 30,000 0
308 MtXIEHMSOIH 30,000 30,000 0
01 HXNHHNBHELS 30,000 30,000 0
DS SHEMER2 30,000
OETMANNSHBHH 380,000 400,000 220,000
J| 190,000
= 190,000
307 glz2tol & 380,000 400,000 A20,000
J| 190,000




A2 =SRAL= SN RAEMY
M BHALZAMATRS
Sl AVSAY CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 190,000
02 It M AMHEE 380,000 400,000 A 20,000
OOETNEANNSHEHNHZ2YE 380,000
J| 190,000
< 190,000
ALERONLESHZ ALY 102,000 105,000 A 3,000
308 XX EHHSOIA 102,000 105,000 A 3,000
01 AXHHILEES 102,000 105,000 A 3,000
OScSAZMEUHNISAIHZ S 75,000
OdgdB &AL 27,000
S AL AR XA 256,629 303,809 AN 47,180
J| 256,629
308 XXM SO A 256,629 303,809 AN 47,180
J| 256,629
01 IXNHHBNEES 256,629 303,809 A 47,180
Oz AN AT ALY 256,629
J| 256,629
=SS NMHES I Z LY KR 73,201 59,840 13,361
J| 73,201
308 XtXIEHH SOl A 73,201 59,840 13,361
J| 73,201
01 X HHILEES 73,201 59,840 13,361
JMOHEE D& ALY 73,201
J| 73,201
KNSEAS SEFHLS AL (HE) 216,000 216,000 0
J| 108,000
< 108,000
201 €24l 4,000 4,000 0
J| 2,000
< 2,000
01 At 22l 4,000 4,000 0
Ogpt=2tl 4,000
OXlGA2 SEALS AL =S| 4,000
J| 2,000
< 2,000
307 21201 A 212,000 212,000 0
J| 106,000
< 106,000
02 It HAHE L 212,000 212,000 0
OALSIMNSRNIAL2 S 212,000
J| 106,000
< 106,000
KNSAAS SEFHLSEALG (XE) 10,287,339 10,352,607 A 65,268
J| 7,913,338




Paa

A= SNH2d= = AE
HE: BMALBRAMAN TS
ool ASBIAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
== 2,374,001
308 XXM SO A 10,287,339 10,352,607 A 65,268
J| 7,913,338
< 2,374,001
01 IXNHHBNEES 10,287,339 10,352,607 A 65,268
OXGA SSALSTAY 10,287,339
J| 7,913,338
< 2,374,001
KNSAS ZSASAMEA(HE) 72,832 50,000 22,832
J| 36,416
< 36,416
307 21201 A 72,832 50,000 22,832
J| 36,416
< 36,416
02 QIAHFAAFEX 72,832 50,000 22,832
O X& M A 72,832
J| 36,416
= 36,416
NAMBBSHIHMEIA(KH) 4,879,846 4,276,906 602,940
Jl| 3,753,728
< 1,126,118
308 AAIEHHSOIA 4,879,846 4,276,906 602,940
J| 3,753,728
< 1,126,118
01 HXNHHNBHELS 4,879,846 4,276,906 602,940
OXGASHESAX M A 4,879,846
J| 3,753,728
=) 1,126,118
HASESSHXN =X AS 477,859 528,490 A 50,631
J| 477,859
307 glz2+ol & 477,859 528,490 A 50,631
J| 477,859
05 RIZtRE = 477,859 528,490 A 50,631
[PSEAEE =Rt PNE=DNEE P g2 477,859
J| 477,859
AZMOSZ=E A 300,000 360,000 260,000
308 XtXIEHH SOl A 300,000 360,000 260,000
01 AXHHBILEES 300,000 360,000 260,000
OAZMOtSEEAS 300,000
LES0 2 130,000 0 130,000
201 Let249] 70,000 0 70,000
01 At 22l 70,000 0 70,000
RIS =1l 70,000




AR N EEE A EAFUDY
B BAALMATS
Sl AYSTALY (29l & 2)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OLHESZNY=EE 70,000
308 AHX| S SO0l 60,000 0 60,000
01 AIXHMBAEXZ 60,000 0 60,000
XS =01 ae| 30,000
ONeHLSNZZ ) 30,000
O|eF)|EtAIE & S Y MBI A A 9,883,493 10,870,940 AN987,447
Jl 8,303,293
& 1,580,200
oz RFX 51,850 23,000 28,850
201 et A | 7,600 8,000 A 400
01 AFR2 2t 2l Yl 7,600 8,000 AN 400
et ZH| 5,700
Ozt 2t H Xt = 0l 5,700
OJsg+¢ 1,900
OS2z RAAI2I =Y S 1,900
202 O B 14,250 15,000 AT50
01 2L Y| 14,250 15,000 A T50
Oo 22 AMEERFER0HI 14,250
402 212t X201 A 30,000 0 30,000
01 DIZFXI2AIE E X (XM THE ) 30,000 0 30,000
OAIZEOMQ(SHOFAN A &S XX & 30,000
ORI H & Xl 2 5 Al & 75,000 75,000 0
308 AHX| S SO0l & 75,000 75,000 0
01 AXNHMIAEETS 75,000 75,000 0
OO H 2t X2l Z 5] X & 75,000
S AZNJALAEH 23| 188,600 188,600 0
Il 94,300
T 94,300
307 QI2t0| ™ 188,600 188,600 0
Dl 94,300
= 94,300
03 AAHNEESIHES 188,600 188,600 0
OS2 NIJHEH2S A 188,600
Dl 94,300
& 94,300
S I ZAXNJILNMNIZ N2 1,548,000 1,434,000 114,000
Jl 1,548,000
307 212t01 & 1,548,000 1,434,000 114,000
Dl 1,548,000
02 DI2ZtZ &AM E X 1,548,000 1,434,000 114,000
OS2I XNJYLI T2 NHSH 1,548,000




raox nx

2 =NAL= SN RARY
HOHMASBAMNPE
SR ESIEEEES LEIESRY

AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2

| Il 1,548,000

HANGsgAdz2I 22X 3,260,373 4,541,000 A 1,280,627
| 3,260,373

308 XXX S0 A 3,260,373 4,541,000 A 1,280,627
J| 3,260,373

01 AXNSHBLAEES 3,260,373 4,541,000 A 1,280,627
OFAXNGSIA2IN22I N 3,260,373
| 3,260,373

SSAZ D HAX Y (HE) 105,920 0 105,920
| 105,920

307 glz2+ol & 105,920 0 105,920
| 105,920

02 RIZFE MM E X 105,920 0 105,920
OFANAESSAS I 224SAHIHA 105,920
J| 105,920

SZAZT D HAX A (XH) 600,000 0 600,000
| 600,000

308 XXX SOIA 600,000 0 600,000
| 600,000

01 IXNSHHBANEES 600,000 0 600,000
OFSXNGRoBIH2H 600,000
| 600,000

HANJAZBEIUERAI A= 106,000 0 106,000
| 106,000

307 21201 A 106,000 0 106,000
J| 106,000

02 IZHE M AHE L 106,000 0 106,000
OFAXNGFAEIUWERAI RS 106,000
| 106,000

AHAM=SESHI NS 166,000 146,300 19,700
| 83,000
< 83,000

307 g1+l & 166,000 146,300 19,700
| 83,000
< 83,000

05 RIZIRI &3 166,000 146,300 19,700
OdHAM=SSESHI LS 166,000
J| 83,000
< 83,000

ASHESAILXXNA 71,500 137,800 A 66,300
| 55,000
< 16,500

403 MHXISHE X201 H 71,500 137,800 A 66,300
| 55,000




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

< 16,500

01 XM A2E X 71,500 137,800 A 66,300
ONsdESAINLERNNSA 71,500
J| 55,000
< 16,500

O=S=2dsANLAE2I XA 25,000 25,000 0

307 21201 A 25,000 25,000 0

05 RIZt2IEt = 25,000 25,000 0
OolssssSdiNssEaNed2I A 25,000

SSENE3(I)0ISKH 3,000,000 3,000,000 0
J| 2,100,000
< 900,000

307 gl2tol & 3,000,000 3,000,000 0
J| 2,100,000
< 900,000

02 IZtA M AIHE L 3,000,000 3,000,000 0
DesdzdsdlI2d XA 3,000,000
J| 2,100,000
< 900,000

NEs3ozied(2y) 66,000 45,000 21,000
J| 66,000

201 Let24E] 10,000 10,000 0
J| 10,000

01 At 22l 10,000 10,000 0
Oger==&H| 10,000
OXNsssd=ssE2sME 10,000
J| 10,000

307 g1zl & 56,000 35,000 21,000
J| 56,000

02 It M AMHEE 56,000 35,000 21,000
OXNES2AZ HEAIE L5t 56,000
J| 56,000

NES3AZME (R&) 30,000 30,000 0
J| 30,000

308 XXM SOIA 30,000 30,000 0
J| 30,000

01 X HHILEES 30,000 30,000 0
OEALAssd=2g28XE 30,000
J| 30,000

eABES 9,500 10,000 A 500

201 Let249] 9,500 10,000 A 500

01 At 2teltl 9,500 10,000 A 500
Ogpt=2tl 9,500
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60,000
60,000
80,000

A 20,000

6,910

6,910

6,910

27,000
27,000

27,000

H3r
Wikd
RIS
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